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123 _4 5 6_7_
20 20 40
12 12 24
15 15
15 15
10 10

123 _4 5 6_7_
20 20 10 12 62
20 20 40
15 4 12 3 34
15 8 10 33
8 15 6 29
12 6 6 4 28
10 10 20
12 8 20
15 15
3 2 5
4 1 5
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1.2 3 _4 5 6_7_8_ &it_BAHE:
20 20 15 12 67 67
15 12 12 8 47 47

20 20 40 40
15 8 10 33 33

4 8 10 4 26 26
12 6 4 3 25 25
10 10 20 20

15 15 15

6 6 12 12

8 8 8
6 1 1 1
3 2 5 5
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20 20 15 12 67 67
12 12 10 34 34
10 20 30 30
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12 3 _4 _5_6_7_8_ &it_HBxE:
20 20 20 8 68 68
12 12 8 15 47 47

15 15 4 34 34

15 10 25 25
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12 12 12
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Pos_Name 1.2 3 _4 5 6_17_8 &t HMEE
1 BlfE = 15 15 10 15 55 55

2 ILAX % 12 12 8 12 44 44

3 ATA =5 20 20 40 40

4 = =9=3 10 10 6 10 36 36

5 #B & 20 12 32 32

6 FA IF 20 20 20

7 FH & 15 15 15

8 MA EXHE 8 8 8
SC2 H35R

Pos_Name 1.2 3 4 5 6_17_8 &t HMEE
1 3 B 15 15 20 50 50

2 BE BA 20 15 35 35

3 #H &H— 20 20 20
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Pos_Name 12 3 _4 5 6_17_8 &t HBHHE:t
13xA AR 20 15 15 15 65 65

2 LA #Xx 20 20 20 60 60
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Pos_Name 12 3 _4 5 6_17_ 8 &zt BHMEE
1&EMh 22 20 15 20 55 55

2 NI &= 12 12 12 36 36

3 ER & 20 15 35 35

4 &l 20 10 30 30

5 LR % 15 8 23 23



